Net Ionic Equations - Answers

H25i03 + 2NaOH = N025i03 + ZHQO
H,SiO3 + 2Na’ + 20H™ 2 2Na" + Si03%™ + 2H,0
H.Si03 + 20H™ & Si03%™ + 2H,0

2HCI + Ba(OH), = BaCl, + 2H,0
2H + 2CI" + Ba®* + 20H™ & Ba* + 2CI" + 2H20

2H" + 20H™ 22H:0

4HCI + 2Cr(NOs), + 2HgCl, = 2CrCl; + Hg,Cl, + 4HNO;
4H" + 4CI" + 2Cr® + 4NO3™ + 2Hg? + 4CI~ > 2Cr® + 6CI" + Hg.Cl, + 4H' + 4NO3”
2CI™ + 2Cr?* + 2Hg® + & 2Cr™" + Hg2Cl,

2Mn(NOs), + BNaBiO; + 14HNO; & 2NaMnO, + 5Bi(NO3); + 7H,0 + 3NaNO;
2Mn% + 4NO;™ + BNa’ + 5BiO3™ + 14H" + 14NO5;~ & 2Na’ + 2MnO,™ + 5Bi** + 15NO;™ + 7H,0 + 3Na" + 3NO5”
2Mn?* + 5Bi03™ + 14H" = 2MnO4 + 5Bi®* + 7H,0

2A9N03 + H2504 > A92504 + 2HNO3
2Ag+ + 2NO3_ +H + HSO4- > A92504 + 2H" + 2NO3_
ZAg+ + HSO4 = Ag2SO4 + H*

4CuCNS(s) + 7KIOs + 14HCI = 4HCN + 4CuS0O, + 7ICl + 7KCI + BH,0
4CUCNS(s) + 7K' + 7I0;5 + 14H" + 14C1" = 4HCN + 4Cu® + SO, + 7ICl + 7K + CI” + 5 H,0
4CUCNS(s) + 7IO3™ + 14H" + 7CI" > 4HCN + 4Cu® + SO4%™ + 7ICl + BH,0

2CuS0O4 + 2NH4CNS + H,S035 + H,O = 2CuCNS(s) + (NH4),S0, + 2H,50,
2Cu% + 250,42 + 2NH," + 2CNS™ + H,S05 + Ha0 = 2CUCNS(s) + 2NH,4" + SO42° + 2H" + 2HSO,”
2CU% + 5047 + 2CNS™ + HS03 + HyO 2 2CUCNS(s) + 2H' + 2HSO4”

6CI"(NO3)2 +3CuS0O,4 = 3Cu + 4CI"(NO3)3 + CI"z(SO4)3
6Cr? + 12NO3™ + 3Cu® + 3504°" D 3Cu + 4Cr> + 12NO3™ + 2Cr" + 3504%"

6Cr?* + 3Cu® = 3Cu + 6Cr"
3H2504 + MHOQ + 2KBr > MHSO4 + Br‘z + 2KHSO4 + ZHzo

3H" + 3HSO,4 + MnO, + 2K* + 2Br™ = Mn?* + 5042' + Br, + 2K' + 2KHSO,4 + 2H,0
3H" + HSO4™ + MnO, + 2Br~ =& Mn®* + SO4%" + Br, + 2H,0
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Net Ionic Equations - Answers

H45iO4 + 4NaOH =2 NG4SiO4 + 4Hzo
H4Si04 + 4Na" + 40H™ 2 4Na" + Si0,* + 4H,0
H4Si04 + 40H™ => SiO44- + 4H,0

Na,S + 2HCl = 2Nacl + H,S
2Na* + S% + 2H" + 2CI" > 2Na" + 2CI" + H,S
S¥+ 2H + > H.S

PbCl, + Na,S = 2NaCl + PbS
PbCl, + 2Na* + S > 2Na* + 2CI" + PbS
PbCl, + S > 2CI + PbS

2A9C'O4 + (NH4)2504 > 2NH4C|O4 + A92504
2A9* +2ClO4 + 2NH," + 5042_ > 2NH4 + 2ClI0O4 + A92504
2Ag" + SO4% > Ag2504

Hg2(Cl03), + SrCl; & Sr(Cl0s), + HgoCl
Hgo>" + 2ClO3 + Sr?* + 2CI" > Sr? + 2C103™ + HgCl,
Hg2*" + 2CI" > HgoCl,

MHOZ +4HCl > MnC|2 + Clg + ZHZO
MnO; + 4H' + 4CI" > Mn® + 2CI" + Cl, + 2H,0

MnO, + 4H* + 2CI" > Mn® + Cl, + 2H,0

6FeCl; + 14HCI + KoCr,07 > 6FeCl; + 2CrCl; + 2KCI + 7TH,0

6Fe® + 12CI" + 14H" + 14CI + 2K* + Cr,0,% > 6Fe® + 18CI + 2Cr®* + 6CI + 2K + 2CI + 7H,0

6Fe? + 14H" + Cr,0,> > 6Fe>* + 2Cr3* + 7H,0

3NaCl + 4Na,CrO4 + 23HBr = 3HCIO, + 4CrBr; + 11NaBr + 10H,0
3Na" + 3CI" + 8 Na* + 4Cr0O,% + 23H" + 23Br” > 3HCIO, + 4Cr® + 12Br™ + 1INa" + 11Br + 10H,0

3CI + 4Cr0O4% + 23H" > 3HCIO; + 4Cr* + 10H,0

O3 + 3KI + 2H;504 = O, + KI3 + 2KHSO,4 + H0

O3+ 3K + 3T + 2H"+ 2HSO4 »> O, + K" + I3 + 2K" + 2HSO4 + H,0

O3+3T +2H" > 0, + I3 +H.0
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